B # Find Fourier cosine coefficients for

| # f(x)=1 on L/2<x<L, f(x)=0 elsewhere
[ > L:=1;
> f:=x->piecewise(x<0,x"3, exp(-x));
] fi= x— piecewise(x < 0, X>, e ¥) (1)
> convert(f(x),piecewise,x);
X x<0
N (2)
e 0<x
E convert(f(-x),piecewise,x);
e x<0
\ (3)
-X 0<x
[ > fODD:=x->(f(x)-f(-x))/2;fTEVEN:=x->(f(x)+f(-x))/2;
fODD:= x= - f(x) = - F(-x)
. 1 1
fEVEN.=x—>E f(x) + 5 f(-x) 4)
[ > convert(fODD(x),piecewise,x);
%x3—%ex x<0
0 x=0 (5)
%e_x+%x3 0<x
=> convert(fEVEN(x),piecewise,x);
%xg—i—%ex x<0
1 x=0 (6)
Leox_ L3 o<y
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